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ก"$ก
89$=��42���$.-ก��4
2���$25�$���.� 8���@
5�$�/$�$�F��4���$./�ก�-89$=��428$�ก6��$
�4$���
	�กA�.�ก5�
2
��
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 �	�� 25 ��ก$��B�-�8����$���7
2ก9$���=	.G����;4-�$�8$�ก6��$
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 �	�� 27 ��ก$��B�-�8����$���7
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2/�$89$-	 =84
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2/�$89$-	 �����.D$�/�$89$-	 �	7$��ก$�/�$89$-	=	./�$��ก/�$89$-	
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9$�$"ก�.�9$ก$�=��/�$89$-	 ��<2��< �����(���8$��.�-�
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2ก�.���2��$���
 
 
 �	�� 28 ��@�
�����-5�$���0��
-"$กG���4$�$�ก$�"�2���� /�$89$-	
$"�9$ก�"ก$��
ก�78/�$89$-	 ��@
�4��ก�-/�$

89$-	 
25?ก$�-���$�/4��89$-	 
25?ก$�-���$�/4��"�2���� ��@
��4�
ก$�-���$��$�ก$�/4����
2F���
@����@�
�9$ก�"ก$��4��ก�����
��@�
�����-5�$�
��

�"$ก/�$89$-	
25?ก$�-���$�/4��89$-	 
25?ก$�-���$�/4��"�2���� ��@
��4�
ก$�-���$��$�ก$�/4��
��
2F�������ก��
�7�
2 =	.ก�"ก$���<���(�ก�"ก$����"9$��(�8�
2�9$=	.��(�ก$��ก��
���@�
2ก�-ก�"ก$����

�4��
9$�$"���$���7
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����%&' 3 

��./#,�����.+��.-���
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---------------------- 
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25?ก$�-���$�/4��"�2����"��/�����8$��	�ก�ก�O?���ก�.���2��$���
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(1) �$A�-9$��2��
2��� �$A�1�2��@
�=	.������ �$A��S$
 
$ก�ก$�T4$/�8�?=	.G	��.1
��?
@��
���ก��"$กก$�T4$/�8�?���"���ก0-
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� 54$�-
��;$8 =	.54$���- 8$����".��ก6��$
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(3) 54$D������
��-
��;$8ก$�����8$�ก6��$
�4$���
ก$���������ก0-�����7:<�8$�7�
-�;;�8�"�2�������7889$-	��<� 
(4) �$A���	54$����� =	.�$A�D��ก�"�C�$. ���
25?ก$�-��ก$�/4��"�2���������-"��/�� 
(5) �$A�/��$ =	.�$A�/���/$��8 ���
25?ก$�-���$�/4��"�2���������-"��/�� 
(6) �$A�=	.54$D������
��F
�8?=	.	�
�	@�
� ���
25?ก$�-���$�/4��"�2���������-"��/�� 
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������ 
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(3) �2��=	.����
?/��
@�������G��
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@�� 
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-
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"4$
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-�25�-2-��.�$��$
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"4$
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"$ก����
?/�� ก$�"���$��/��=	.ก$�"�$2���$ 
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�ก�-ก$��9$����2$�
@�� U 7
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2/�$89$-	��(���1�
�
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ก��
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-$
=	.=G���P�$89$-	8$� (1) =	.ก6��$
 

�.�-�
- =	.7�
-�25�-7
2�$2�$�ก$� 
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ก 
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